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IMPORTANT
TRAI MATTER

No. : MOB-14/3G Report-2012/22
                                    Dated: 10th September, 2012
To,


Chief General Manager


All Telecom Circles


BSNL

Subject : Data in respect of 3G Services-regarding.  


Kindly refer to TRAI letter No. 106-3/2012-MN dated 5th Sep. 2012 for seeking clarification in respect of data in respect of 3G service for the month of June 2012.

2.
In this reference, it is found that different circles are using different formulae to reporting. The same has resulted into discrepancies in the report.
3.
It is understood that the information asked for is to be derived from the following formulae:- 
	Sl.No.
	Parameter
	Formula



	1.
	Peak hourly data throughput for Data Serves as per SGSN report in GB ( Say A) 
	This understood to be the peak speed at the output of GGSN towards respective SGSN on respective Gn interface during any given hour during the month and would be measured in GB per second.

Date and hour for such peak is to be intimated to TRAI. 

A = The actual peak speed during any given hr during the month is required to be reported.

 

	2.
	Total Data usage for 2 G services in GB. (Say B)
	This is the total data at the output of SGSN towards all BSCs on Gb interface during the month. 

The same will be calculated from the daily reports. 

Say  X =  Av throughput during the day in G bits / Sec ( average of total of all Gb interfaces) 
Say Y = Value of X averaged fro the whole month in G bits / Sec

Then B = (Y x ( no. of days in the month )  x 3600 seconds x 24 hours ) / 8 bits. 


	3.
	Total Data usage for 3 G services in GB. (Say C)
	This is the total data at the output of SGSN towards all RNCs on IuPS interface during the month. 

The same will be calculated from the daily reports. 

Say  X =  Av throughput during the day in G bits / Sec ( average of total of all IuPS interfaces) 

Say Y = Value of X averaged fro the whole month in G bits / Sec

Then C = (Y x ( no. of days in the month )  x 3600 seconds x 24 hours ) / 8 bits. 



	4.
	Average data usage volume per subscriber per month. (2G + 3G) say D Bytes per subscriber.

	D = (B + C) / No. of subscribers in VLR at any given time on last working day of the month ) 


( Note - BSNL uses common SGSN and GGSN for both 2 G as well as 3G subscribers )
4.
Circles are requested to submit revised report accordingly for the month of June and July’2012 within 2 days for further submission to TRAI.
(Vivek Narayan)
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